A
o %&aw 012IIE & (SYHSLM/HLSM - 0f &)
Sl MM DIBIAA BE
SA -8 -22(3) - HEAMY - HES ’ Oil{\_”’"
EE-En 23,860,681 31,477,603 AT7,616,922
2 2,089,000
X 14,320,000
= 7,451,681
AWAYE OYI|Y HE(SYNLSL/HL 2L - O E) 23,821,253 31,438,340 A7,617,087
2 2,089,000
X 14,320,000
= 7,412,253
Mo JIBHAIE B S 9,423,753 9,643,297 A219,544
= 804,000
x 6,031,000
= 2,588,753
12O (XIKHH) (I QHOI M 28 ) (2 ) 82,250 84,400 A2, 150
= 70,000
& 12,250
202 044l 7,000 7,000 0
01 2401t 7,000 7,000 0
H2HOIY PENM 7,000
403 RHXI EHHI S XH2 01 & 75,250 77,400 A2,150
2 70,000
= 5,250
01 IXISHMAE2EE 75,250 77,400 22,150
OO 2 H 75,250
= 70,000
& 5,250
SI2HOI 2 (XIKHH ) (212101 MEHZAN (2 D) 52,000 84,000 £32,000
2 26,000
= 26,000
403 THXIEHHI S XH2 01 | 52,000 84,000 A82,000
2 26,000
= 26,000
EPEE P CEEENET] 52,000 84,000 £32,000
OO0 AENE A 52,000
2 26,000
< 26,000
YEHg0TE2(2D) 516,886 902,857 385,971
2 458,000
= 58,886
403 T X EHHI S XH2 01 & 516,886 902,857 385,971
2 458,000
= 58,886
01 RXISH K= E 516,886 902,857 385,971
OUEHL0IT B2AY 516,886
2 458,000
= 58,886
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SN SAFED

o FYAAS 0QI|Y HE(SHSLM/HSLL - OfE)

CHRl: MAF J|BIAIE &5 (2 &)
SN . il (3] 311) s A}@ HaS 0l &t A HREZ
o200 éé}é %EH 292,000 133,500 158,500

202 014l 11,000 11,000 0
01 =2 WA HI 11,000 11,000 0
O Y Mad S 11,000
308 XXX S0l & 113,000 120,000 A7,000
01 AXtHBLEES 113,000 120,000 A7,000
O=4tolo] 4 JIE-A X 50,000
OSJtAtel ==0HA 63,000
403 XEXIEHHI S X201 H 168,000 0 168,000
01 tXISHHMA2E X 168,000 0 168,000
OBXL0Y MAFKA 105,000
OFXNY MAIIXE 63,000
ANXMZel(RE)HetHd (Mol HY XLl AILA 6,375,000 6,867,500 A492,500
B)(22)
Xl 5,100,000
= 1,275,000
401 Al HIZ S THYI 6,375,000 6,867,500 492,500
Xl 5,100,000
= 1,275,000
01 Al &8I 6,360,000 6,850,331 A490,331
OMaHHF XNLUHE AMEHY 6,360,000
X 5,088,000
& 1,272,000
03 Al & 2 0HHI 15,000 17,169 22,169
OMaHHY NLOHE AMEFYI 15,000
X 12,000
== 3,000
Ngog sAE= 262,617 272,040 A9,423
401 AIEHIZ 2T 205,617 215,040 29,423
01 Al&H| 204,000 213,500 29,500
OXENHE B2 204,000
03 Al 20HHI 1,617 1,540 7
OXNENE B2 1,617
403 AtXISHHSAH=01™ 57,000 57,000 0
01 XXM AE2EE 57,000 57,000 0
OXYg 2 HEFFUHE MEZL 57,000
NLog SAISEIIESSE (AP JEHTA) 44,000 44,000 0
401 Al EHIZL20HBI 44,000 44,000 0
01 Al & HI 44,000 44,000 0
OXNLYois SALSHIHAZSHHETA 44,000
HEFFOHENMNLY 368,000 240,000 128,000
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ok

4 0HE BT}

HE: FMAYS 0/YI|Y HE(SHHLL VED
SR MAF J|BAIE &3 (B9 &)
. ]
- e<E - EA(E) HEAY - Bas | olee S HmE=T
403 XEXIEHH '=IPEOI7‘" 368,000 240,000 128,000
01 AXISMA2EX 368,000 240,000 128,000
OO EEF0IE MY 60,000
OEANIMESOHE = 200,000
O EHNMRESAL HA 108,000
YEs MO EINY(21) 931,000 0 931,000
Xl 931,000
403 IXI SIS XHE01E 931,000 0 931,000
Xl 931,000
01 tXISMA2EE 931,000 0 931,000
ontEHs sang 896,000
Xl 896,000
OXY ASAZ ALY 35,000
X 35,000
HESHLAENA(=D) 500,000 0 500,000
= 250,000
= 250,000
403 XX S M S XH=01 & 500,000 0 500,000
= 250,000
= 250,000
02 B 2SOHE N2 X A ARSI 500,000 0 500,000
O ESSIXNAAME N& 500,000
= 250,000
== 250,000
Jlg=olg 84 7,734,300 10,230,543 A2,496,243
= 535,000
X 4,795,000
= 2,404,300
IS EAI(Z2D) 3,750,000 3,750,000 0
X 3,000,000
== 750,000
401 A& HIZ 2RI 3,750,000 3,750,000 0
X 3,000,000
& 750,000
01 Al&HI 3,738,000 3,738,000 0
OBH=AHE 3,738,000
X 2,990,400
= 747,600
03 Al 20l 12,000 12,000 0
O 30i=A4 12,000
X 9,600
[ 2,400
OIBOIEA (O ZOHESEY)(2D) 436,000 433,750 2,250
X 349,000
o= 87,000
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SA: SAEBY
B FMHYS O\ HE(SYHSSM/HL 2 - 0E)
Sl 20 84
LU RE-L (32131!) HEAE - Bas owo" - i
403 MHXIEHS IPEOIX" 436 000 433,750 2,250
X 349,000
[ 87,000
02 BJ|2SOIUEt A2 E A E AR 436,000 433,750 2,250
ON=0H B+ 22 436,000
X 349,000
S 87,000
SIBOIEAML(BICHEEH)(2D) 588,000 588,000 0
A 560,000
= 28,000
408 XHXIEHHI S KHE 01 & 588,000 588,000 0
X 560,000
& 28,000
01 HXISHMA=2LEE 588,000 588,000 0
otttt=x 4 588,000
X 560,000
< 28,000
SABQR(LBIA, HASASH)(2D) 967,300 91,650 5,650
X 886,000
S 81,300
207 1M Y| 10,000 10,000 0
01 AP SHH 10,000 10,000 0
O==&SI JItA &t 10,000
403 Rk XIEHX S X201 957,300 951,650 5,650
X 886,000
= 71,300
Ot XM A2EE 788,550 785,400 3,150
OB ML LR(aHSH) 788,550
X 751,000
= 37,550
02 BII 2SS A2 E A AL 168,750 166,250 2,500
O==4&SRNYYFE SUHZA 168,750
X 135,000
S 33,750
EEd 24012 SHAH (=) 130,000 2,860,000 22,730,000
= 100,000
LS 30,000
403 RIXISHH S XH2OI & 130,000 2,860,000 £2,730,000
= 100,000
& 30,000
01 TXEHMA=2EE 130,000 2,860,000 42,730,000
ORSFAAYSH 130,000
= 100,000
& 30,000
HEFNUXNES(SIEBZ) (1) 440,000 121,000 319,000
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SN SAEMD

BE: AWAAS ()Y HE(SYHLSL/HYSL - 0fE)
@l Jl2=0d 84 (2 ®Q
SH - B %(94311) NS - BA= Ol &k o | Huss
= 700,000
== 40,000
403 XX S HE X201 ™ 440,000 121,000 319,000
2 400,000
& 40,000
01 RS2 X 440,000 121,000 319,000
QUUX&BZAL 440,000
2 400,000
& 40,000
MEAREEZ(=2D) 45,000 68, 143 N23,143
2 35,000
o= 10,000
403 X SHHS K20l 45,000 68, 143 223,143
= 35,000
T 10,000
01 XIS 22X 45,000 68,143 223,143
OrEBREEZ 45,000
= 35,000
T 10,000
1Ot & HIHIH 1,258,000 1,448,000 190,000
201 QB2 S HI 3,000 0 3,000
01 At 22l 3,000 0 3,000
O AAMAMNY FAXIAY 2Y 3,000
202 (4 Hl 9,000 9,000 0
01 LAY 9,000 9,000 0
OFAIA ZHANY =& 9,000
403 ItXSHHSA=20IH 1,246,000 1,439,000 A 193,000
01 XA ESEE 1,246,000 1,439,000 A 193,000
OU=3 HER ot 250,000
Q0 MA - AetE =4 300,000
OdHH LA Z XI& 100,000
OdH& MEE A 254,000
OollEZ= AIHIM & 156,000
OU=T 2t HEAAEE =2 90,000
Osalet CHAIOH XH 3= 60,000
OXstai=Ald &5 K& 36,000
AUTE BAE PH(VVEINY) 120,000 0 120,000
403 XSRS XE201H 120,000 0 120,000
01 AtXIEtMA2E 120,000 0 120,000
SRR EHE IFAY 120,000
SANE T8 % 242 XA 6,663,200 11,564,500 24,901,300
= 750,000
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SA MM
I AWAYE OQIIE HB(SRUHSIL/HL L - OfF)
ERl: REANE =4 2 242 JIXIFD (&9l & d)
‘ o . ‘ ‘ ; ] '
SN BB E9I(312) - MRAY - BAS COlare e HTmE=]
— — — [T 3.4%0 —
& 2,419,200
SASMTINSAIEHE (2 D) 577,200 1,879,800 21,302,600
Xl 444,000
== 133,200
403 XXM S AHE0I A 577,200 1,879,800 A 1,302,600
Xl 444,000
& 133,200
01 XS A2E = 577,200 1,879,800 21,302,600
OFUSUXIIIBAIE 577,200
X 444,000
= 133,200
M2 RSEANLAHE (Z2D) 2,345,000 750,000 1,595,000
N 1,850,000
& 495,000
403 AIXIEMS X201 2,345,000 750,000 1,595,000
Xl 1,850,000
< 495,000
01 AXSHHA=2EE 2,345,000 750,000 1,595,000
Ol L= A=SEEI2 S2AEY 585,000
XAl 450,000
= 135,000
O+=NMEXMEAL 360,000
Xl 300,000
& 60,000
O=LE REEFMH 1,400,000
X 1,100,000
< 300,000
AMSHESXEL(2D) 1,470,000 7,962,500 26,492,500
Xl 1,200,000
== 270,000
403 XXM S X20|H 1,470,000 7,962,500 26,492,500
Xl 1,200,000
== 270,000
01 AXSHA2ER 1,470,000 7,962,500 26,492,500
=S MXHE SEMEH 2HE 1,470,000
Xl 1,200,000
& 270,000
LU IB.REIBAE L BRHH 501,000 532,200 A31,200
202 044l 9,000 9,000 0
01 2 LHOIH| 9,000 9,000 0
Ot JIE - FSIIEAIE T2 A 9,000
207 S 0K | 100,000 19,000 81,000
NEEEET] 100,000 19,000 81,000
O=4tg +=8It8 SHAH =4 HARES 100,000
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A AAMFE
I FWAQYS 1YL HE(SHHSSA/HLE - OfE)
Sl REAE T4 L 242 JHXHD (el el
SA BB S9A(S) - SN - BER ol are BN la=e |
308 MtXItHSOIH 28,000 237,700 £A209,700
01 HXESHBLEZS 28,000 237,700 209,700
O=4t2 U AHIESTEA X2 21,000
O+4AE stugaE3 ]/ XN 7,000
403 XX SHHS =0l & 364,000 153,000 211,000
01 AXIEHMAZEE 364,000 153,000 211,000
OEEHE2 N2MBAEL N 63,000
O==NE ALZAIE FH 127,000
Ox&=E SSHYF ANEME X& 27,000
O=&t2 Xl ME(HMYANE A 147,000
HEGT ool | 153,000 420,000 A267,000
403 TtXI SR SAH20IH 153,000 420,000 267,000
01 AR AZEEE 153,000 420,000 A267,000
O dH+=BSAE X3 153,000
ZE e 243 117,000 20,000 97,000
207 AN 20,000 0 20,000
01 2SI 20,000 0 20,000
CEH EZH MES2E Oi3 HIE2Y 20,000
308 XXX SOOI 70,000 0 70,000
01 AXESHBAEES 70,000 0 70,000
OZEHMY FHET SEEYE EL0HNE 70,000
403 X ERSTHE0IA 27,000 20,000 7,000
01 XIS 2L E 27,000 20,000 7,000
OZd ZH&Y BHET HE=SI| XA 27,000
Aratel &Y - ERXISAMNS(2D) 1,500,000 0 1,500,000
= 750,000
LS 750,000
307 2Iztol A 1,500,000 0 1,500,000
= 750,000
= 750,000
02 PHBMANHEE 1,500,000 0 1,500,000
O=4tate 3 - EXXA 1,500,000
= 750,000
=S 750,000
BY2SFHI(SAF D) (OIEHIIE) 39,428 39,263 165
=23l 39,428 39,263 165
FAEY J123H 39,428 39,263 165
201 ¢ er2 Y| 18,998 18,233 765
01 AbR22(H 18,998 18,233 765
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S SAEHY
Y HY2IFH(+LFHD)(OIEH/IIE
£l 123 (el E )
e : - : . 12 .
S B ER(E) - NRAY - BES o &rey T DS
: s — B _ e -
ORAM2YE AR2cIH| 18,998
202 G4l 16,830 16,830
01 SO Y] 16,830 16,830 0
ORA=2Y =UOHI 16,830
203 FRF&H| 3,600 4,200 2600
04 REA2EYRFAH| 3,600 4,200 2600
©20¢! Olat 300,000& 122 3,600

-1028 -





